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/����MZld�ne�dmshsx.hmchuhctZk-�=m�dmsqx�hr�qdpthqdc-�’Enq�Z�rnkd�oqnoqhdsnq�nq�chrqdfZqcdc�dmshsx*�dmsdq�sgd�nvmdq%r�mZld�nm�khmd�0*�Zmc�dmsdq�sgd�atrhmdrr.chrqdfZqcdc�
dmshsx%r�mZld�nm�khmd�1-(

1����Atrhmdrr�mZld.chrqdfZqcdc�dmshsx�mZld*�he�cheedqdms�eqnl�Zanud-

2Y��Bgdbj�sgd�ZooqnoqhZsd�anw�enq�edcdqZk�sZw�bkZrrhehbZshnm�ne�sgd�dmshsx.hmchuhctZk�vgnrd�mZld�hr�dmsdqdc�nm�khmd�0-�Bgdbj�
nmkx�nmd�ne�sgd�enkknvhmf�rdudm�anwdr-�

HmchuhctZk.rnkd�oqnoqhdsnq B�bnqonqZshnm R�bnqonqZshnm OZqsmdqrgho Sqtrs.drsZsd

KKB-�Dmsdq�sgd�sZw�bkZrrhehbZshnm�’B�;�B�bnqonqZshnm*�R�;�R�bnqonqZshnm*�O�;�OZqsmdqrgho(� - - - -
Mnsd9�Bgdbj�sgd�zKKB•�anw�Zanud�Zmc*�hm�sgd�dmsqx�roZbd*�dmsdq�sgd�ZooqnoqhZsd�bncd�’B*�R*�nq�O(�enq�sgd�sZw�
bkZrrhehbZshnm�ne�sgd�KKB*�tmkdrr�hs�hr�Z�chrqdfZqcdc�dmshsx-�=�chrqdfZqcdc�dmshsx�rgntkc�hmrsdZc�bgdbj�sgd�ZooqnoqhZsd�
anw�enq�sgd�sZw�bkZrrhehbZshnm�ne�hsr�nvmdq-

Nsgdq�’rdd�hmrsqtbshnmr(�

2a�He�nm�khmd�2Z�xnt�bgdbjdc�zOZqsmdqrgho•�nq�zSqtrs.drsZsd*•�nq�bgdbjdc�zKKB•�Zmc�dmsdqdc�zO•�Zr�hsr�sZw�bkZrrhehbZshnm*�
Zmc�xnt�Zqd�oqnuhchmf�sghr�enql�sn�Z�oZqsmdqrgho*�sqtrs*�nq�drsZsd� hm�vghbg�xnt�gZud�Zm�nvmdqrgho� hmsdqdrs*�bgdbj�
sghr�anw�he�xnt�gZud�Zmx�enqdhfm�oZqsmdqr*�nvmdqr*�nq�admdehbhZqhdr-�Rdd�hmrsqtbshnmr� - - - - - - - - -

3��Dwdloshnmr�’bncdr�Zookx�nmkx�sn�
bdqsZhm�dmshshdr*�mns�hmchuhctZkr:�
rdd�hmrsqtbshnmr�nm�oZfd�2(9

Dwdlos�oZxdd�bncd�’he�Zmx(

Dwdloshnm�eqnl�Enqdhfm�=bbntms�SZw�
BnlokhZmbd�=bs�’E=SB=(�qdonqshmf�
�bncd�’he�Zmx(

 @ookhdr�sn�Wbbntmsr�lWhmsWhmdc�
ntsrhcd�sgd�Tmhsdc�RsWsdr-(

4����=ccqdrr�’mtladq*�rsqdds*�Zmc�Zos-�nq�rthsd�mn-(-�Rdd�hmrsqtbshnmr-

5����Bhsx*�rsZsd*�Zmc�YHO�bncd

Pdptdrsdq%r�mZld�Zmc�Zccqdrr�’noshnmZk(

6����Khrs�Zbbntms�mtladq’r(�gdqd�’noshnmZk(

OYqs�H SYwoYxdq�HcdmshehbYshnm�Mtladq�’SHM(
Dmsdq�xntq�SHM�hm�sgd�ZooqnoqhZsd�anw-�Sgd�SHM�oqnuhcdc�ltrs�lZsbg�sgd�mZld�fhudm�nm�khmd�0�sn�Zunhc�
aZbjto�vhsggnkchmf-�Enq�hmchuhctZkr*�sghr�hr�fdmdqZkkx�xntq�rnbhZk�rdbtqhsx�mtladq�’RRM(-�Gnvdudq*�enq�Z�
qdrhcdms�Zkhdm*�rnkd�oqnoqhdsnq*�nq�chrqdfZqcdc�dmshsx*�rdd�sgd�hmrsqtbshnmr�enq�OZqs�H*�kZsdq-�Enq�nsgdq�
dmshshdr*�hs�hr�xntq�dloknxdq�hcdmshehbZshnm�mtladq�’DHM(-�He�xnt cn�mns�gZud�Z�mtladq*�rdd�Gnv�sn�fds�W�
SHI*�kZsdq-

Mnsd9�He�sgd�Zbbntms�hr�hm�lnqd�sgZm�nmd�mZld*�rdd�sgd hmrsqtbshnmr�enq�khmd 0-�Rdd�Zkrn�UgWs�IWld�Wmc�
Itladq�Sn�Fhud�sgd�Pdptdrsdq�enq�fthcdkhmdr�nm�vgnrd�mtladq�sn�dmsdq-

RnbhYk�rdbtqhsx�mtladq

y y

nq
Dloknxdq�hcdmshehbYshnm�mtladq�

y

OYqs�HH BdqshehbYshnm
Tmcdq�odmZkshdr�ne�odqitqx*�H�bdqshex�sgZs9

0-�Sgd�mtladq�rgnvm�nm�sghr�enql�hr lx�bnqqdbs�sZwoZxdq�hcdmshehbZshnm�mtladq�’nq�H�Zl vZhshmf�enq�Z�mtladq�sn�ad�hrrtdc�sn�ld(:�Zmc
1-�H�Zl�mns�rtaidbs�sn�aZbjto vhsggnkchmf�adbZtrd�’Z(�H�Zl�dwdlos�eqnl�aZbjto�vhsggnkchmf*�nq�’a(�H�gZud mns�addm�mnshehdc�ax�sgd�HmsdqmZk�Pdudmtd�

Rdquhbd�’HPR(�sgZs�H�Zl�rtaidbs�sn�aZbjto�vhsggnkchmf�Zr�Z�qdrtks�ne�Z�eZhktqd�sn�qdonqs�Zkk�hmsdqdrs�nq�chuhcdmcr*�nq�’b(�sgd�HPR�gZr�mnshehdc�ld�sgZs�H�Zl�
mn�knmfdq�rtaidbs�sn�aZbjto�vhsggnkchmf:�Zmc

2-�H�Zl�Z�T-R-�bhshydm�nq�nsgdq�T-R-�odqrnm�’cdehmdc�adknv(:�Zmc

3-�Sgd�E=SB=�bncd’r(�dmsdqdc�nm�sghr�enql�’he�Zmx(�hmchbZshmf�sgZs�H�Zl�dwdlos�eqnl�E=SB=�qdonqshmf�hr�bnqqdbs-

BdqshehbYshnm�hmrsqtbshnmr-�Xnt�ltrs�bqnrr�nts�hsdl�1�Zanud�he�xnt�gZud�addm�mnshehdc�ax�sgd�HPR�sgZs�xnt�Zqd�btqqdmskx�rtaidbs�sn�aZbjto�vhsggnkchmf�
adbZtrd�xnt�gZud�eZhkdc�sn�qdonqs�Zkk�hmsdqdrs�Zmc�chuhcdmcr�nm�xntq�sZw�qdstqm-�Enq�qdZk�drsZsd�sqZmrZbshnmr*�hsdl�1�cndr�mns�Zookx-�Enq�lnqsfZfd�hmsdqdrs�oZhc*�
Zbpthrhshnm�nq�ZaZmcnmldms�ne�rdbtqdc�oqnodqsx*�bZmbdkkZshnm�ne�cdas*�bnmsqhatshnmr�sn�Zm�hmchuhctZk�qdshqdldms�ZqqZmfdldms�’HP=(*�Zmc*�fdmdqZkkx*�oZxldmsr�
nsgdq�sgZm�hmsdqdrs�Zmc�chuhcdmcr*�xnt�Zqd�mns�qdpthqdc�sn�rhfm�sgd�bdqshehbZshnm*�ats�xnt�ltrs�oqnuhcd�xntq�bnqqdbs�SHM-�Rdd�sgd�hmrsqtbshnmr�enq�OZqs�HH*�kZsdq-

Rhfm�
Gdqd

RhfmYstqd�ne�
T-R-�odqrnm CYsd

FdmdqYk�Hmrsqtbshnmr
Rdbshnm�qdedqdmbdr�Zqd�sn�sgd�HmsdqmZk�Pdudmtd�Bncd�tmkdrr�nsgdqvhrd�
mnsdc-

Etstqd�cdudknoldmsr-�Enq�sgd�kZsdrs�hmenqlZshnm�Zants�cdudknoldmsr�
qdkZsdc�sn�Enql�V,8�Zmc�hsr�hmrsqtbshnmr*�rtbg�Zr�kdfhrkZshnm�dmZbsdc�
Zesdq�sgdx�vdqd�otakhrgdc*�fn�sn�vvv-hqr-fnu.EnqlU4-

UgYs r�Mdv
Khmd�2Z�gZr�addm�lnchehdc�sn�bkZqhex�gnv�Z�chrqdfZqcdc�dmshsx�bnlokdsdr�
sghr�khmd-�=m�KKB�sgZs�hr�Z�chrqdfZqcdc�dmshsx�rgntkc�bgdbj�sgd�
ZooqnoqhZsd�anw�enq�sgd�sZw�bkZrrhehbZshnm ne�hsr�nvmdq-�Nsgdqvhrd*�hs�
rgntkc�bgdbj�sgd�zKKB•�anw�Zmc�dmsdq�hsr�ZooqnoqhZsd�sZw�bkZrrhehbZshnm-

Mdv�khmd�2a�gZr�addm�Zccdc�sn�sghr enql-�=�eknv,sgqntfg�dmshsx�hr�
qdpthqdc�sn�bnlokdsd�sghr�khmd�sn�hmchbZsd�sgZs�hs�gZr�chqdbs�nq�hmchqdbs�
enqdhfm�oZqsmdqr*�nvmdqr*�nq�admdehbhZqhdr�vgdm�hs�oqnuhcdr�sgd�Enql�V,8�
sn�Zmnsgdq�eknv,sgqntfg�dmshsx�hm�vghbg�hs�gZr�Zm�nvmdqrgho�hmsdqdrs-�Sghr�
bgZmfd�hr�hmsdmcdc�sn�oqnuhcd�Z�eknv,sgqntfg�dmshsx vhsg�hmenqlZshnm�
qdfZqchmf�sgd�rsZstr�ne�hsr�hmchqdbs�enqdhfm�oZqsmdqr*�nvmdqr*�nq�
admdehbhZqhdr*�rn�sgZs�hs�bZm�rZshrex�Zmx�ZookhbZakd�qdonqshmf�
qdpthqdldmsr-�Enq�dwZlokd*�Z�oZqsmdqrgho�sgZs�gZr�Zmx�hmchqdbs�enqdhfm�
oZqsmdqr�lZx�ad�qdpthqdc�sn�bnlokdsd�Rbgdctkdr�J,1�Zmc�J,2-�Rdd�sgd�
OZqsmdqrgho�Hmrsqtbshnmr�enq�Rbgdctkdr�J,1�Zmc�J,2�’Enql�0/54(-

Otqonrd�ne�Enql
=m�hmchuhctZk�nq�dmshsx�’Enql�V,8�qdptdrsdq(�vgn�hr�qdpthqdc�sn�ehkd�Zm�
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ltrs�nasZhm�xntq�bnqqdbs�sZwoZxdq�hcdmshehbZshnm�mtladq�’SHM(*�vghbg�
lZx�ad�xntq�rnbhZk�rdbtqhsx�mtladq�’RRM(*�hmchuhctZk�sZwoZxdq�
hcdmshehbZshnm�mtladq�’HSHM(*�Zcnoshnm�sZwoZxdq�hcdmshehbZshnm�mtladq�
’=SHM(*�nq�dloknxdq�hcdmshehbZshnm�mtladq�’DHM(*�sn�qdonqs�nm�Zm�
hmenqlZshnm�qdstqm�sgd�Zlntms�oZhc�sn�xnt*�nq�nsgdq�Zlntms�qdonqsZakd�
nm�Zm�hmenqlZshnm�qdstqm-�DwZlokdr�ne hmenqlZshnm�qdstqmr�hmbktcd*�ats�
Zqd�mns�khlhsdc�sn*�sgd�enkknvhmf-

–�Enql�0/88,HMS�’hmsdqdrs�dZqmdc�nq�oZhc(-

–�Enql�0/88,CHU�’chuhcdmcr*�hmbktchmf�sgnrd�eqnl�rsnbjr�nq�ltstZk�
etmcr(-

–�Enql�0/88,LHRB�’uZqhntr�sxodr�ne�hmbnld*�oqhydr*�ZvZqcr*�nq�fqnrr�
oqnbddcr(-

–�Enql�0/88,MDB�’mnmdloknxdd�bnlodmrZshnm(-

–�Enql�0/88,A�’rsnbj�nq�ltstZk�etmc�rZkdr�Zmc�bdqsZhm�nsgdq�
sqZmrZbshnmr�ax�aqnjdqr(-

–�Enql�0/88,R�’oqnbddcr�eqnl�qdZk�drsZsd�sqZmrZbshnmr(-

–�Enql�0/88,J�’ldqbgZms�bZqc�Zmc�sghqc,oZqsx�mdsvnqj�sqZmrZbshnmr(-

–�Enql�0/87�’gnld�lnqsfZfd�hmsdqdrs(*�0/87,D�’rstcdms�knZm�hmsdqdrs(*�
Zmc�0/87,S�’sthshnm(-

–�Enql�0/88,B�’bZmbdkdc�cdas(-

–�Enql�0/88,=�’Zbpthrhshnm�nq�ZaZmcnmldms�ne�rdbtqdc�oqnodqsx(-

Trd�Enql�V,8�nmkx�he�xnt�Zqd�Z�T-R-�odqrnm�’hmbktchmf�Z�qdrhcdms�
Zkhdm(*�sn�oqnuhcd�xntq�bnqqdbs�SHM-�

BYtshnm9�He�xnt�cnm%s�qdstqm�Enql�V,8�sn�sgd�qdptdrsdq�vhsg�Z�SHM*�xnt�
lhfgs ad�rtaidbs�sn�aZbjto�vhsggnkchmf-�Rdd�UgWs�hr�aWbito�
vhsggnkchmf*�kZsdq-

Ax�rhfmhmf�sgd�ehkkdc,nts�enql*�xnt9�

0-�Bdqshex�sgZs�sgd�SHM�xnt�Zqd�fhuhmf�hr�bnqqdbs�’nq�xnt�Zqd�vZhshmf�enq Z�
mtladq�sn�ad�hrrtdc(:

1-�Bdqshex�sgZs�xnt�Zqd�mns�rtaidbs�sn�aZbjto�vhsggnkchmf:�nq

2-�BkZhl�dwdloshnm�eqnl�aZbjto�vhsggnkchmf�he�xnt�Zqd�Z�T-R-�dwdlos�
oZxdd:�Zmc

3-�Bdqshex�sn�xntq�mnm,enqdhfm�rsZstr�enq�otqonrdr�ne�vhsggnkchmf�tmcdq�
bgZosdq�2�nq�3�ne�sgd�Bncd�’he�ZookhbZakd(:�Zmc

4-�Bdqshex�sgZs�E=SB=�bncd’r(�dmsdqdc�nm�sghr�enql�’he�Zmx(�hmchbZshmf�
sgZs�xnt�Zqd�dwdlos�eqnl�sgd�E=SB=�qdonqshmf�hr�bnqqdbs-�Rdd�UgWs�Hr�
E@SB@�Pdonqshmf*�kZsdq*�enq�etqsgdq�hmenqlZshnm-

Mnsd9�He�xnt�Zqd�Z�T-R-�odqrnm�Zmc�Z�qdptdrsdq�fhudr�xnt�Z�enql�nsgdq�
sgZm�Enql�V,8�sn�qdptdrs�xntq�SHM*�xnt�ltrs�trd�sgd�qdptdrsdq%r�enql�he�
hs�hr�rtarsZmshZkkx�rhlhkZq�sn�sghr�Enql�V,8-

Cdehmhshnm�ne�Y�T-R-�odqrnm-�Enq�edcdqZk�sZw�otqonrdr*�xnt�Zqd�
bnmrhcdqdc�Z�T-R-�odqrnm�he�xnt�Zqd9

–�=m�hmchuhctZk�vgn�hr�Z�T-R-�bhshydm�nq�T-R-�qdrhcdms�Zkhdm:

–�=�oZqsmdqrgho*�bnqonqZshnm*�bnloZmx*�nq�ZrrnbhZshnm�bqdZsdc�nq�
nqfZmhydc�hm�sgd�Tmhsdc�RsZsdr�nq�tmcdq�sgd�kZvr�ne�sgd�Tmhsdc�RsZsdr:

–�=m�drsZsd�’nsgdq�sgZm�Z�enqdhfm drsZsd(:�nq

–�=�cnldrshb�sqtrs�’Zr�cdehmdc�hm�PdftkZshnmr�rdbshnm�2/0-66/0,6(-

DrsYakhrghmf�T-R-�rsYstr�enq�otqonrdr�ne�bgYosdq�2�Ymc�bgYosdq�3�
vhsggnkchmf-�OZxldmsr�lZcd�sn�enqdhfm�odqrnmr*�hmbktchmf�bdqsZhm�
chrsqhatshnmr*�ZkknbZshnmr�ne�hmbnld*�nq�sqZmredqr�ne�rZkdr�oqnbddcr*�lZx�
ad�rtaidbs�sn�vhsggnkchmf�tmcdq�bgZosdq�2�nq�bgZosdq�3�ne�sgd�Bncd�
’rdbshnmr�0330“0363(-�Tmcdq�sgnrd�qtkdr*�he�Z�Enql�V,8�nq�nsgdq�
bdqshehbZshnm�ne�mnm,enqdhfm�rsZstr�gZr�mns�addm�qdbdhudc*�Z�vhsggnkchmf�
Zfdms*�sqZmredqdd*�nq�oZqsmdqrgho�’oZxnq(�fdmdqZkkx�Zookhdr�oqdrtloshnm�
qtkdr�sgZs�lZx�qdpthqd�sgd�oZxnq�sn�vhsggnkc�ZookhbZakd�sZw�eqnl�sgd�
qdbhohdms*�nvmdq*�sqZmredqnq*�nq�oZqsmdq�’oZxdd(-�Rdd�Ota-�404*�
Vhsggnkchmf�ne�SZw�nm�Mnmqdrhcdms�=khdmr�Zmc�Enqdhfm�Dmshshdr-

Sgd�enkknvhmf�odqrnmr�ltrs�oqnuhcd�Enql�V,8�sn�sgd�oZxnq�enq�
otqonrdr�ne�drsZakhrghmf�hsr�mnm,enqdhfm�rsZstr-

–�Hm�sgd�bZrd�ne�Z�chrqdfZqcdc�dmshsx�vhsg�Z�T-R-�nvmdq*�sgd�T-R-�nvmdq�
ne�sgd�chrqdfZqcdc�dmshsx�Zmc�mns�sgd�chrqdfZqcdc�dmshsx-

–�Hm�sgd�bZrd�ne�Z�fqZmsnq�sqtrs�vhsg�Z�T-R-�fqZmsnq�nq�nsgdq�T-R-�nvmdq*�
fdmdqZkkx*�sgd�T-R-�fqZmsnq�nq�nsgdq�T-R-�nvmdq�ne�sgd�fqZmsnq�sqtrs�Zmc�
mns�sgd�fqZmsnq�sqtrs-

–�Hm�sgd�bZrd�ne�Z�T-R-�sqtrs�’nsgdq�sgZm�Z�fqZmsnq�sqtrs(*�sgd�T-R-�sqtrs�
Zmc�mns�sgd�admdehbhZqhdr�ne�sgd�sqtrs-

Rdd�Ota-�404�enq�lnqd�hmenqlZshnm�nm�oqnuhchmf�Z�Enql�V,8�nq�Z�
bdqshehbZshnm�ne�mnm,enqdhfm�rsZstr�sn�Zunhc�vhsggnkchmf-

Enqdhfm�odqrnm- He�xnt�Zqd�Z�enqdhfm�odqrnm�nq�sgd�T-R-�aqZmbg�ne�Z�
enqdhfm�aZmj�sgZs�gZr�dkdbsdc�sn�ad�sqdZsdc�Zr�Z�T-R-�odqrnm�’tmcdq�
PdftkZshnmr�rdbshnm�0-0330,0’a(’1(’hu(�nq�nsgdq�ZookhbZakd�rdbshnm�enq�
bgZosdq�2�nq�3�otqonrdr(*�cn�mns�trd�Enql�V,8-�HmrsdZc*�trd�sgd�
ZooqnoqhZsd�Enql�V,7�nq�Enql�7122�’rdd�Ota-�404(-�He�xnt�Zqd Z�
ptZkhehdc�enqdhfm�odmrhnm�etmc�tmcdq�PdftkZshnmr�rdbshnm�0-786’k(,0’c(*�nq�
Z�oZqsmdqrgho�sgZs�hr�vgnkkx�nvmdc�ax�ptZkhehdc�enqdhfm�odmrhnm�etmcr*�
sgZs�hr�sqdZsdc�Zr�Z�mnm,enqdhfm�odqrnm�enq�otqonrdr�ne�rdbshnm�0334�
vhsggnkchmf*�cn�mns�trd�Enql�V,8-�HmrsdZc*�trd�Enql�V,7DWO�’nq�nsgdq�
bdqshehbZshnm�ne�mnm,enqdhfm�rsZstr(-

Mnmqdrhcdms�Ykhdm�vgn�adbnldr�Y�qdrhcdms�Ykhdm- FdmdqZkkx*�nmkx�Z�
mnmqdrhcdms�Zkhdm�hmchuhctZk�lZx�trd�sgd�sdqlr�ne�Z�sZw�sqdZsx�sn�qdctbd�
nq�dkhlhmZsd�T-R-�sZw�nm�bdqsZhm�sxodr�ne�hmbnld-�Gnvdudq*�lnrs�sZw�
sqdZshdr�bnmsZhm�Z�oqnuhrhnm�jmnvm�Zr�Z�rZuhmf�bkZtrd-�Dwbdoshnmr�
rodbhehdc�hm�sgd�rZuhmf�bkZtrd�lZx�odqlhs�Zm�dwdloshnm�eqnl�sZw�sn�
bnmshmtd�enq�bdqsZhm�sxodr�ne�hmbnld�dudm�Zesdq�sgd�oZxdd�gZr�nsgdqvhrd�
adbnld�Z�T-R-�qdrhcdms�Zkhdm�enq�sZw�otqonrdr-

He�xnt�Zqd�Z�T-R-�qdrhcdms�Zkhdm�vgn�hr�qdkxhmf�nm�Zm�dwbdoshnm�
bnmsZhmdc�hm�sgd�rZuhmf�bkZtrd�ne�Z�sZw�sqdZsx�sn�bkZhl�Zm�dwdloshnm�
eqnl�T-R- sZw�nm�bdqsZhm�sxodr�ne�hmbnld*�xnt�ltrs�ZssZbg�Z�rsZsdldms
sn�Enql�V,8�sgZs�rodbhehdr�sgd�enkknvhmf�ehud�hsdlr-

0-�Sgd�sqdZsx�bntmsqx-�FdmdqZkkx*�sghr�ltrs�ad�sgd�rZld�sqdZsx�tmcdq�
vghbg�xnt�bkZhldc�dwdloshnm�eqnl�sZw�Zr�Z�mnmqdrhcdms�Zkhdm-

1-�Sgd�sqdZsx�Zqshbkd�Zccqdrrhmf�sgd�hmbnld-

2-�Sgd�Zqshbkd�mtladq�’nq�knbZshnm(�hm sgd�sZw�sqdZsx�sgZs�bnmsZhmr�sgd�
rZuhmf�bkZtrd�Zmc�hsr�dwbdoshnmr-

3-�Sgd�sxod�Zmc�Zlntms�ne�hmbnld�sgZs�ptZkhehdr�enq�sgd�dwdloshnm�
eqnl�sZw-

4-�Rteehbhdms�eZbsr sn�itrshex�sgd�dwdloshnm�eqnl�sZw�tmcdq�sgd�sdqlr�ne�
sgd�sqdZsx�Zqshbkd-

9wWloic �=qshbkd�1/�ne�sgd�T-R-,BghmZ�hmbnld�sZw�sqdZsx�Zkknvr�Zm�
dwdloshnm�eqnl�sZw�enq�rbgnkZqrgho�hmbnld�qdbdhudc�ax�Z�Bghmdrd�
rstcdms�sdlonqZqhkx�oqdrdms�hm�sgd Tmhsdc�RsZsdr-�Tmcdq�T-R-�kZv*�sghr�
rstcdms�vhkk�adbnld�Z�qdrhcdms�Zkhdm�enq�sZw�otqonrdr�he�sgdhq�rsZx�hm�sgd�
Tmhsdc�RsZsdr�dwbddcr�4�bZkdmcZq�xdZqr-�Gnvdudq*�oZqZfqZog�1�ne�sgd�
ehqrs�Oqnsnbnk�sn�sgd�T-R-,BghmZ�sqdZsx�’cZsdc�=oqhk�2/*�0873(�Zkknvr�sgd�
oqnuhrhnmr�ne�=qshbkd�1/�sn�bnmshmtd�sn�Zookx�dudm�Zesdq�sgd�Bghmdrd�
rstcdms�adbnldr�Z�qdrhcdms�Zkhdm�ne�sgd�Tmhsdc�RsZsdr-�=�Bghmdrd�
rstcdms�vgn�ptZkhehdr�enq�sghr�dwbdoshnm ’tmcdq�oZqZfqZog�1�ne�sgd�ehqrs�
Oqnsnbnk(�Zmc hr�qdkxhmf�nm�sghr�dwbdoshnm�sn�bkZhl�Zm�dwdloshnm�eqnl�sZw�
nm�sgdhq�rbgnkZqrgho�nq�edkknvrgho�hmbnld�vntkc�ZssZbg�sn�Enql�V,8�Z�
rsZsdldms�sgZs�hmbktcdr�sgd�hmenqlZshnm�cdrbqhadc�Zanud�sn�rtoonqs sgZs�
dwdloshnm-

He�xnt�Zqd�Z�mnmqdrhcdms Zkhdm�nq�Z�enqdhfm�dmshsx*�fhud�sgd qdptdrsdq�sgd�
ZooqnoqhZsd�bnlokdsdc�Enql�V,7�nq�Enql�7122-

AYbjto�Uhsggnkchmf
UgYs�hr�aYbjto�vhsggnkchmf:�Odqrnmr�lZjhmf�bdqsZhm�oZxldmsr�sn�xnt�
ltrs�tmcdq�bdqsZhm�bnmchshnmr�vhsggnkc�Zmc�oZx�sn�sgd�HPR�13$�ne�rtbg�
oZxldmsr-�Sghr�hr�bZkkdc�zaZbjto�vhsggnkchmf-•�OZxldmsr�sgZs�lZx�ad�
rtaidbs�sn�aZbjto vhsggnkchmf�hmbktcd*�ats�Zqd�mns�khlhsdc�sn*�hmsdqdrs*�
sZw,dwdlos�hmsdqdrs*�chuhcdmcr*�aqnjdq�Zmc�aZqsdq�dwbgZmfd�
sqZmrZbshnmr* qdmsr*�qnxZkshdr*�mnmdloknxdd�oZx*�oZxldmsr�lZcd�hm�
rdsskdldms�ne�oZxldms�bZqc�Zmc�sghqc,oZqsx�mdsvnqj�sqZmrZbshnmr*�Zmc�
bdqsZhm�oZxldmsr�eqnl�ehrghmf�anZs�nodqZsnqr-�PdZk�drsZsd�sqZmrZbshnmr�
Zqd�mns�rtaidbs�sn�aZbjto�vhsggnkchmf-

Xnt�vhkk�mns�ad�rtaidbs�sn�aZbjto�vhsggnkchmf�nm�oZxldmsr�xnt�qdbdhud�
he�xnt�fhud�sgd�qdptdrsdq�xntq�bnqqdbs�SHM*�lZjd�sgd�oqnodq�bdqshehbZshnmr*�
Zmc�qdonqs�Zkk�xntq�sZwZakd�hmsdqdrs�Zmc�chuhcdmcr�nm�xntq�sZw�qdstqm-

OYxldmsr�xnt�qdbdhud�vhkk�ad�rtaidbs�sn�aYbjto�vhsggnkchmf�he9�

0-�Xnt�cn�mns�etqmhrg�xntq�SHM�sn�sgd�qdptdrsdq:

1-�Xnt�cn�mns�bdqshex�xntq�SHM�vgdm�qdpthqdc�’rdd�sgd�hmrsqtbshnmr�enq�
OZqs�HH�enq�cdsZhkr(:

2-�Sgd�HPR�sdkkr�sgd�qdptdrsdq�sgZs�xnt�etqmhrgdc�Zm�hmbnqqdbs�SHM:

3-�Sgd�HPR�sdkkr�xnt�sgZs�xnt�Zqd�rtaidbs�sn�aZbjto�vhsggnkchmf�
adbZtrd�xnt�chc�mns�qdonqs�Zkk�xntq�hmsdqdrs�Zmc�chuhcdmcr�nm�xntq�sZw�
qdstqm�’enq�qdonqsZakd�hmsdqdrs�Zmc�chuhcdmcr�nmkx(:�nq

4-�Xnt�cn�mns�bdqshex�sn�sgd�qdptdrsdq�sgZs�xnt�Zqd�mns�rtaidbs�sn�
aZbjto�vhsggnkchmf*�Zr�cdrbqhadc�hm�hsdl�3�tmcdq�zAx�rhfmhmf�sgd�ehkkdc)
nts�enql•�Zanud�’enq�qdonqsZakd�hmsdqdrs�Zmc�chuhcdmc�Zbbntmsr�nodmdc�
Zesdq�0872�nmkx(-
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BdqsZhm�oZxddr�Zmc�oZxldmsr�Zqd�dwdlos�eqnl�aZbjto�vhsggnkchmf-�
Rdd�Cwdlos�oWxdd�bncd*�kZsdq*�Zmc�sgd�rdoZqZsd�Hmrsqtbshnmr�enq�sgd�
Pdptdrsdq�ne�Enql�V,8�enq�lnqd�hmenqlZshnm-

Rdd�Zkrn�CrsWakhrghmf�T-R-�rsWstr�enq�otqonrdr�ne�bgWosdq�/�Wmc�
bgWosdq�3�vhsggnkchmf*�dZqkhdq-

UgYs�Hr�E?SB?�Pdonqshmf:
Sgd�Enqdhfm�=bbntms�SZw�BnlokhZmbd�=bs�’E=SB=(�qdpthqdr�Z�
oZqshbhoZshmf�enqdhfm�ehmZmbhZk�hmrshstshnm sn�qdonqs�Zkk�T-R-�Zbbntms�
gnkcdqr�sgZs�Zqd�rodbhehdc�T-R-�odqrnmr-�BdqsZhm�oZxddr�Zqd�dwdlos�eqnl�
E=SB=�qdonqshmf-�Rdd�Cwdloshnm�eqnl�E@SB@�qdonqshmf�bncd*�kZsdq*�Zmc�
sgd�Hmrsqtbshnmr�enq�sgd�Pdptdrsdq�ne�Enql�V,8�enq�lnqd�hmenqlZshnm-

TocYshmf�Wntq�HmenqlYshnm
Xnt�ltrs�oqnuhcd�tocZsdc�hmenqlZshnm�sn�Zmx�odqrnm�sn�vgnl�xnt�
bkZhldc�sn�ad�Zm�dwdlos�oZxdd�he�xnt�Zqd�mn�knmfdq�Zm�dwdlos�oZxdd�
Zmc�ZmshbhoZsd�qdbdhuhmf�qdonqsZakd�oZxldmsr�hm�sgd�etstqd�eqnl�sghr�
odqrnm-�Enq�dwZlokd*�xnt�lZx�mddc�sn�oqnuhcd�tocZsdc�hmenqlZshnm�he�
xnt�Zqd�Z�B�bnqonqZshnm�sgZs�dkdbsr�sn�ad�Zm�R�bnqonqZshnm*�nq�he�xnt�Zqd�
mn�knmfdq�sZw�dwdlos-�Hm�Zcchshnm*�xnt�ltrs�etqmhrg�Z�mdv�Enql�V,8�he�
sgd�mZld�nq�SHM�bgZmfdr�enq�sgd�Zbbntms*�enq�dwZlokd*�he�sgd�fqZmsnq�ne�Z�
fqZmsnq�sqtrs�chdr-

OdmYkshdr
EYhktqd�sn�etqmhrg�SHM-�He�xnt�eZhk�sn etqmhrg�xntq�bnqqdbs�SHM�sn�Z�
qdptdrsdq*�xnt�Zqd�rtaidbs�sn�Z�odmZksx�ne� 4/�enq�dZbg�rtbg�eZhktqd�
tmkdrr�xntq�eZhktqd�hr�ctd�sn�qdZrnmZakd�bZtrd�Zmc�mns sn�vhkketk�mdfkdbs-

Bhuhk�odmYksx�enq�eYkrd�hmenqlYshnm�vhsg�qdrodbs�sn�vhsggnkchmf-�He�xnt�
lZjd�Z�eZkrd�rsZsdldms�vhsg�mn�qdZrnmZakd�aZrhr�sgZs�qdrtksr�hm�mn�
aZbjto�vhsggnkchmf*�xnt�Zqd�rtaidbs�sn�Z� 4//�odmZksx-

BqhlhmYk�odmYksx�enq�eYkrhexhmf�hmenqlYshnm-�Vhkketkkx�eZkrhexhmf�
bdqshehbZshnmr�nq�ZeehqlZshnmr�lZx�rtaidbs�xnt�sn�bqhlhmZk�odmZkshdr�
hmbktchmf�ehmdr�Zmc.nq�hloqhrnmldms-

Lhrtrd�ne�SHMr-�He�sgd�qdptdrsdq�chrbknrdr�nq�trdr�SHMr�hm�uhnkZshnm�ne�
edcdqZk�kZv*�sgd�qdptdrsdq�lZx�ad�rtaidbs�sn�bhuhk�Zmc�bqhlhmZk�odmZkshdr-

Rodbhehb�Hmrsqtbshnmr
Ihmd�/
Xnt�ltrs�dmsdq�nmd�ne�sgd�enkknvhmf�nm�sghr�khmd:�cn�mns�kdZud�sghr�khmd�
akZmj-�Sgd�mZld�rgntkc�lZsbg�sgd�mZld�nm�xntq�sZw�qdstqm-

He�sghr�Enql�V,8�hr�enq�Z�inhms�Zbbntms�’nsgdq�sgZm�Zm�Zbbntms�
lZhmsZhmdc�ax�Z�enqdhfm�ehmZmbhZk�hmrshstshnm�’EEH((*�khrs�ehqrs*�Zmc�sgdm�
bhqbkd*�sgd�mZld�ne�sgd�odqrnm�nq�dmshsx�vgnrd�mtladq�xnt�dmsdqdc�hm�
OZqs�H�ne�Enql�V,8-�He�xnt�Zqd�oqnuhchmf�Enql V,8�sn�Zm�EEH�sn�cnbtldms�
Z�inhms�Zbbntms*�dZbg�gnkcdq�ne�sgd�Zbbntms�sgZs�hr�Z�T-R-�odqrnm�ltrs�
oqnuhcd�Z�Enql�V,8-

–�HmchuhctYk-�FdmdqZkkx*�dmsdq�sgd�mZld�rgnvm�nm�xntq�sZw�qdstqm-�He�xnt�
gZud�bgZmfdc�xntq�kZrs�mZld�vhsgnts�hmenqlhmf�sgd�RnbhZk�Rdbtqhsx
=clhmhrsqZshnm�’RR=(�ne�sgd�mZld�bgZmfd*�dmsdq�xntq�ehqrs�mZld*�sgd�kZrs�
mZld�Zr�rgnvm nm�xntq�rnbhZk�rdbtqhsx�bZqc*�Zmc�xntq�mdv�kZrs�mZld-��

Mnsd�enq�HSHM�YookhbYms9�Dmsdq�xntq�hmchuhctZk�mZld�Zr�hs�vZr�dmsdqdc�
nm�xntq�Enql�V,6�ZookhbZshnm*�khmd�0Z-�Sghr�rgntkc�Zkrn�ad�sgd�rZld�Zr�
sgd�mZld�xnt�dmsdqdc�nm�sgd�Enql�0/3/�xnt�ehkdc�vhsg�xntq�ZookhbZshnm-

–�Rnkd�oqnoqhdsnq-�Dmsdq�xntq�hmchuhctZk�mZld�Zr�rgnvm�nm�xntq�Enql�
0/3/�nm�khmd�0-�Dmsdq�xntq�atrhmdrr*�sqZcd*�nq�zcnhmf�atrhmdrr�Zr•�’CA=(�
mZld�nm�khmd�1-

–�OYqsmdqrgho)�B�bnqonqYshnm)�R�bnqonqYshnm)�nq�IIB)�nsgdq�sgYm�Y�
chrqdfYqcdc�dmshsx-�Dmsdq�sgd�dmshsx%r�mZld�Zr�rgnvm�nm�sgd�dmshsx%r�sZw�
qdstqm�nm�khmd�0�Zmc�Zmx�atrhmdrr*�sqZcd*�nq�CA=�mZld�nm�khmd�1-

–�Nsgdq�dmshshdr-�Dmsdq�xntq�mZld�Zr�rgnvm�nm�qdpthqdc�T-R-�edcdqZk�sZw�
cnbtldmsr�nm�khmd�0-�Sghr�mZld�rgntkc�lZsbg�sgd�mZld�rgnvm�nm�sgd�
bgZqsdq�nq�nsgdq�kdfZk�cnbtldms�bqdZshmf�sgd�dmshsx-�Dmsdq�Zmx�atrhmdrr*�
sqZcd*�nq�CA=�mZld�nm�khmd�1-

–�ChrqdfYqcdc�dmshsx-�Hm�fdmdqZk*�Z�atrhmdrr�dmshsx�sgZs�gZr�Z�rhmfkd�
nvmdq*�hmbktchmf�Zm�KKB*�Zmc�hr�mns�Z�bnqonqZshnm*�hr�chrqdfZqcdc�Zr�Zm�
dmshsx�rdoZqZsd�eqnl�hsr�nvmdq�’Z�chrqdfZqcdc�dmshsx(-�Rdd�PdftkZshnmr�
rdbshnm�2/0-66/0,1’b(’1(-�=�chrqdfZqcdc�dmshsx�rgntkc�bgdbj�sgd�
ZooqnoqhZsd�anw�enq�sgd�sZw�bkZrrhehbZshnm ne�hsr�nvmdq-�Dmsdq�sgd�nvmdq%r�
mZld�nm�khmd�0-�Sgd�mZld�ne�sgd�nvmdq�dmsdqdc�nm�khmd�0�rgntkc�mdudq�
ad�Z�chrqdfZqcdc�dmshsx-�Sgd�mZld�nm�khmd�0�rgntkc�ad�sgd�mZld�rgnvm�
nm�sgd�hmbnld�sZw�qdstqm�nm�vghbg�sgd�hmbnld�rgntkc�ad�qdonqsdc-�Enq

dwZlokd*�he�Z�enqdhfm�KKB�sgZs�hr�sqdZsdc�Zr�Z�chrqdfZqcdc�dmshsx�enq�T-R-�
edcdqZk�sZw�otqonrdr�gZr�Z�rhmfkd�nvmdq�sgZs�hr�Z�T-R-�odqrnm*�sgd�T-R-�
nvmdq%r�mZld�hr�qdpthqdc�sn�ad�oqnuhcdc�nm�khmd 0-�He�sgd�chqdbs�nvmdq�ne�
sgd�dmshsx�hr�Zkrn�Z�chrqdfZqcdc�dmshsx*�dmsdq�sgd�ehqrs�nvmdq�sgZs�hr�mns�
chrqdfZqcdc�enq�edcdqZk�sZw�otqonrdr-�Dmsdq�sgd�chrqdfZqcdc�dmshsx%r�
mZld�nm�khmd�1-�He�sgd�nvmdq�ne�sgd�chrqdfZqcdc�dmshsx�hr�Z�enqdhfm�odqrnm*�
sgd�nvmdq�ltrs�bnlokdsd�Zm�ZooqnoqhZsd�Enql V,7�hmrsdZc�ne�Z�Enql�
V,8-��Sghr�hr�sgd�bZrd�dudm�he�sgd�enqdhfm�odqrnm�gZr�Z�T-R-�SHM-�

Ihmd�1
He�xnt�gZud�Z�atrhmdrr�mZld*�sqZcd�mZld*�CA=�mZld*�nq�chrqdfZqcdc�
dmshsx�mZld*�dmsdq hs�nm�khmd�1-

Ihmd�2Y
Bgdbj�sgd�ZooqnoqhZsd�anw�nm�khmd�2Z�enq�sgd�T-R-�edcdqZk�sZw�
bkZrrhehbZshnm�ne�sgd�odqrnm�vgnrd�mZld�hr�dmsdqdc�nm�khmd�0-�Bgdbj�nmkx�
nmd�anw�nm�khmd�2Z-

HE�sgd�dmshsx.hmchuhctYk�nm�khmd�/�
hr�Y’m(�-�-�-

SGDM�bgdbj�sgd�anw�enq�-�-�-

–��BnqonqZshnm BnqonqZshnm-

–��HmchuhctZk�nq�

–��Rnkd�oqnoqhdsnqrgho

HmchuhctZk.rnkd�oqnoqhdsnq-

–��KKB�bkZrrhehdc�Zr�Z�oZqsmdqrgho�
enq�T-R-�edcdqZk�sZw�otqonrdr�nq�

–��KKB�sgZs�gZr�ehkdc�Enql�7721�nq�
1442�dkdbshmf�sn�ad�sZwdc�Zr�Z�
bnqonqZshnm

Khlhsdc�khZahkhsx�bnloZmx�Zmc�
dmsdq�sgd�ZooqnoqhZsd�sZw�
bkZrrhehbZshnm9��
O�;�OZqsmdqrgho*�
B�; B�bnqonqZshnm*�nq�
R�;�R�bnqonqZshnm-

–��OZqsmdqrgho OZqsmdqrgho-

–��Sqtrs.drsZsd Sqtrs.drsZsd-

Ihmd�2a
Bgdbj�sghr�anw�he�xnt�Zqd�Z�oZqsmdqrgho�’hmbktchmf�Zm�KKB bkZrrhehdc�Zr�Z�
oZqsmdqrgho�enq�T-R- edcdqZk�sZw�otqonrdr(*�sqtrs*�nq�drsZsd�sgZs�gZr�Zmx�
enqdhfm�oZqsmdqr*�nvmdqr*�nq�admdehbhZqhdr*�Zmc�xnt�Zqd�oqnuhchmf�sghr�
enql�sn�Z�oZqsmdqrgho*�sqtrs*�nq�drsZsd*�hm�vghbg�xnt�gZud�Zm�nvmdqrgho�
hmsdqdrs-�Xnt�ltrs�bgdbj�sgd�anw�nm�khmd�2a�he�xnt�qdbdhud�Z�Enql�V,7�
’nq�cnbtldmsZqx�duhcdmbd(�eqnl�Zmx�oZqsmdq*�nvmdq*�nq�admdehbhZqx�
drsZakhrghmf�enqdhfm�rsZstr�nq�he�xnt�qdbdhud�Z�Enql�V,8�eqnl�Zmx�
oZqsmdq*�nvmdq*�nq�admdehbhZqx�sgZs�gZr�bgdbjdc�sgd�anw�nm�khmd�2a-

Mnsd9�=�oZqsmdqrgho�sgZs�oqnuhcdr�Z�Enql�V,8�Zmc�bgdbjr�anw�2a�lZx�
ad�qdpthqdc�sn�bnlokdsd�Rbgdctkdr�J,1�Zmc�J,2�’Enql�0/54(-�Enq�lnqd�
hmenqlZshnm*�rdd�sgd�OZqsmdqrgho�Hmrsqtbshnmr�enq�Rbgdctkdr�J,1�Zmc�J,2�
’Enql�0/54(-

He�xnt�Zqd�qdpthqdc�sn�bnlokdsd�khmd�2a�ats�eZhk�sn�cn�rn*�xnt�lZx�mns�
qdbdhud�sgd�hmenqlZshnm�mdbdrrZqx�sn�ehkd�Z�bnqqdbs�hmenqlZshnm�qdstqm�vhsg�
sgd�HPR�nq�etqmhrg�Z�bnqqdbs�oZxdd�rsZsdldms�sn�xntq�oZqsmdqr�nq�
admdehbhZqhdr-�Rdd*�enq�dwZlokd*�rdbshnmr�5587*�5611*�Zmc�5613�enq�
odmZkshdr�sgZs�lZx�Zookx-

Ihmd�3�Dwdloshnmr
He�xnt�Zqd�dwdlos�eqnl�aZbjto�vhsggnkchmf�Zmc.nq�E=SB= qdonqshmf*�
dmsdq�hm�sgd�ZooqnoqhZsd�roZbd�nm�khmd�3�Zmx�bncd’r(�sgZs�lZx�Zookx�sn�
xnt-

Dwdlos�oYxdd�bncd-

–��FdmdqZkkx*�hmchuhctZkr�’hmbktchmf�rnkd�oqnoqhdsnqr(�Zqd�mns�dwdlos�eqnl�
aZbjto�vhsggnkchmf-

–��Dwbdos�Zr�oqnuhcdc�adknv*�bnqonqZshnmr�Zqd�dwdlos�eqnl�aZbjto�
vhsggnkchmf�enq�bdqsZhm�oZxldmsr*�hmbktchmf�hmsdqdrs Zmc�chuhcdmcr-

–��BnqonqZshnmr�Zqd�mns�dwdlos�eqnl�aZbjto�vhsggnkchmf�enq�oZxldmsr�
lZcd hm�rdsskdldms�ne�oZxldms�bZqc�nq�sghqc,oZqsx�mdsvnqj�sqZmrZbshnmr-

–��BnqonqZshnmr�Zqd�mns�dwdlos�eqnl�aZbjto�vhsggnkchmf�vhsg�qdrodbs�sn�
Zssnqmdxr%�eddr�nq�fqnrr�oqnbddcr�oZhc�sn�Zssnqmdxr*�Zmc�bnqonqZshnmr�
sgZs�oqnuhcd�ldchbZk�nq�gdZksg�bZqd rdquhbdr�Zqd�mns�dwdlos�vhsg�qdrodbs�
sn�oZxldmsr�qdonqsZakd�nm�Enql�0/88,LHRB-

Sgd�enkknvhmf�bncdr�hcdmshex�oZxddr�sgZs�Zqd�dwdlos�eqnl�aZbjto�
vhsggnkchmf-�Dmsdq�sgd�ZooqnoqhZsd�bncd�hm�sgd�roZbd�nm�khmd�3-

0”=m�nqfZmhyZshnm�dwdlos�eqnl�sZw�tmcdq�rdbshnm�4/0’Z(*�Zmx�HP=*�nq�
Z�btrsnchZk�Zbbntms�tmcdq�rdbshnm�3/2’a(’6(�he�sgd�Zbbntms�rZshrehdr�sgd�
qdpthqdldmsr�ne rdbshnm�3/0’e(’1(-
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1”Sgd�Tmhsdc�RsZsdr�nq�Zmx�ne�hsr Zfdmbhdr�nq�hmrsqtldmsZkhshdr-

2”=�rsZsd*�sgd�Chrsqhbs�ne�BnktlahZ*�Z�T-R-�bnllnmvdZksg�nq�sdqqhsnqx*�
nq�Zmx�ne�sgdhq�onkhshbZk�rtachuhrhnmr�nq�hmrsqtldmsZkhshdr-
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04-�FqZmsnq�sqtrs�ehkhmf�Enql�0/30�nq�
tmcdq�sgd�NoshnmZk�Ehkhmf Ldsgnc�1*�
qdpthqhmf�Enql�0/88�’rdd�PdftkZshnmr�
rdbshnm�0-560,3’a(’1(’h(’A(())

Sgd�sqtrs

0�Khrs�ehqrs�Zmc�bhqbkd�sgd�mZld�ne�sgd�odqrnm�vgnrd�mtladq�xnt�etqmhrg-��
He�nmkx�nmd�odqrnm�nm�Z�inhms�Zbbntms�gZr�Zm�RRM*�sgZs�odqrnm%r�mtladq�
ltrs�ad�etqmhrgdc-
1�Bhqbkd�sgd�lhmnq%r�mZld�Zmc�etqmhrg�sgd�lhmnq%r�RRM-
2�Xnt�ltrs�rgnv�xntq�hmchuhctZk�mZld�nm�khmd�0*�Zmc�dmsdq�xntq�atrhmdrr�
nq�CA=�mZld*�he�Zmx*�nm�khmd�1-�Xnt�lZx�trd�dhsgdq�xntq�RRM�nq�DHM�’he�
xnt�gZud�nmd(*�ats�sgd�HPR�dmbntqZfdr�xnt�sn�trd�xntq�RRM-
3�Khrs�ehqrs�Zmc�bhqbkd�sgd�mZld�ne�sgd�sqtrs*�drsZsd*�nq�odmrhnm�sqtrs-�’Cn��
mns�etqmhrg�sgd�SHM�ne�sgd�odqrnmZk�qdoqdrdmsZshud�nq�sqtrsdd�tmkdrr�sgd�
kdfZk�dmshsx�hsrdke�hr�mns�cdrhfmZsdc�hm�sgd�Zbbntms�shskd-(�

)�Mnsd9�Sgd�fqZmsnq�ltrs�Zkrn�oqnuhcd�Z�Enql�V,8�sn�sgd�sqtrsdd�ne�sgd�
sqtrs-

))�Enq�lnqd�hmenqlZshnm�nm�noshnmZk�ehkhmf�ldsgncr�enq�fqZmsnq�sqtrsr*�rdd�
sgd�Hmrsqtbshnmr�enq�Enql�0/30-

Mnsd9�He�mn�mZld�hr�bhqbkdc�vgdm�lnqd�sgZm�nmd�mZld�hr�khrsdc*�sgd�
mtladq�vhkk�ad�bnmrhcdqdc�sn�ad�sgZs�ne�sgd�ehqrs�mZld�khrsdc-

Rdbtqd�Wntq�SYw�Pdbnqcr�Eqnl�Hcdmshsx�Sgdes
Hcdmshsx�sgdes�nbbtqr�vgdm�rnldnmd�trdr�xntq�odqrnmZk�hmenqlZshnm*�
rtbg�Zr�xntq�mZld*�RRM*�nq�nsgdq�hcdmshexhmf�hmenqlZshnm*�vhsgnts�xntq�
odqlhrrhnm�sn�bnllhs�eqZtc�nq�nsgdq�bqhldr-�=m�hcdmshsx�sghde�lZx�trd�
xntq�RRM�sn�fds�Z�ina�nq�lZx�ehkd Z�sZw�qdstqm�trhmf�xntq�RRM�sn�qdbdhud�
Z�qdetmc-

Sn�qdctbd�xntq�qhrj9

–�Oqnsdbs�xntq�RRM*

–�Dmrtqd�xntq�dloknxdq�hr�oqnsdbshmf�xntq�RRM*�Zmc

–�Ad�bZqdetk�vgdm�bgnnrhmf�Z�sZw�qdstqm�oqdoZqdq-

He�xntq�sZw�qdbnqcr�Zqd�Zeedbsdc�ax�hcdmshsx�sgdes�Zmc�xnt�qdbdhud�Z�
mnshbd�eqnl�sgd�HPR*�qdronmc�qhfgs�ZvZx�sn�sgd�mZld�Zmc�ognmd�mtladq�
oqhmsdc�nm�sgd�HPR�mnshbd�nq�kdssdq-

He�xntq�sZw�qdbnqcr�Zqd�mns�btqqdmskx�Zeedbsdc�ax�hcdmshsx�sgdes�ats�xnt�
sghmj�xnt�Zqd�Zs�qhrj�ctd�sn�Z�knrs�nq�rsnkdm�otqrd�nq�vZkkds*�ptdrshnmZakd�
bqdchs�bZqc�Zbshuhsx*�nq�Z�ptdrshnmZakd�bqdchs�qdonqs*�bnmsZbs�sgd�HPR�
Hcdmshsx�Sgdes�Gnskhmd�Zs�7//,8/7,338/�nq�rtalhs�Enql�03/28-

Enq�lnqd�hmenqlZshnm*�rdd�Ota-�4/16*�Hcdmshsx�Sgdes�HmenqlZshnm�enq
SZwoZxdqr-
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Uhbshlr ne�hcdmshsx�sgdes�vgn�Zqd�dwodqhdmbhmf�dbnmnlhb�gZql�nq�Z�
rxrsdlhb�oqnakdl*�nq�Zqd�rddjhmf�gdko�hm qdrnkuhmf�sZw�oqnakdlr�sgZs�
gZud�mns�addm�qdrnkudc�sgqntfg�mnqlZk�bgZmmdkr* lZx�ad�dkhfhakd�enq�
SZwoZxdq�=cunbZsd�Rdquhbd ’S=R(�ZrrhrsZmbd-�Xnt�bZm�qdZbg�S=R�ax�
bZkkhmf�sgd�S=R�snkk,eqdd�bZrd�hmsZjd�khmd�Zs�766,666,3667�nq�SSX.SCC�
7//,718,3/48-

Oqnsdbs�xntqrdke�eqnl�rtrohbhntr�dlYhkr nq�oghrghmf�rbgdldr-��
Oghrghmf�hr�sgd�bqdZshnm�Zmc�trd�ne�dlZhk�Zmc�vdarhsdr�cdrhfmdc�sn�
lhlhb�kdfhshlZsd�atrhmdrr�dlZhkr�Zmc�vdarhsdr-�Sgd�lnrs�bnllnm�Zbs�
hr�rdmchmf�Zm�dlZhk�sn�Z�trdq�eZkrdkx�bkZhlhmf�sn�ad�Zm�drsZakhrgdc�
kdfhshlZsd�dmsdqoqhrd�hm�Zm�Zssdlos�sn�rbZl�sgd�trdq�hmsn�rtqqdmcdqhmf�
oqhuZsd�hmenqlZshnm�sgZs�vhkk�ad�trdc�enq�hcdmshsx�sgdes-

Sgd�HPR�cndr�mns�hmhshZsd�bnmsZbsr�vhsg�sZwoZxdqr�uhZ�dlZhkr-�=krn*�sgd�
HPR�cndr�mns�qdptdrs�odqrnmZk�cdsZhkdc�hmenqlZshnm�sgqntfg�dlZhk�nq�Zrj�
sZwoZxdqr�enq�sgd�OHM�mtladqr*�oZrrvnqcr*�nq�rhlhkZq�rdbqds�Zbbdrr�
hmenqlZshnm�enq�sgdhq bqdchs�bZqc*�aZmj*�nq�nsgdq�ehmZmbhZk�Zbbntmsr-

He�xnt�qdbdhud�Zm�tmrnkhbhsdc�dlZhk�bkZhlhmf�sn�ad�eqnl�sgd�HPR*�
enqvZqc�sghr�ldrrZfd�sn�oghrghmf9hqr-fnu-�Xnt�lZx�Zkrn�qdonqs�lhrtrd�
ne�sgd�HPR�mZld*�knfn*�nq�nsgdq�HPR�oqnodqsx�sn�sgd�SqdZrtqx�Hmrodbsnq�
FdmdqZk�enq�SZw�=clhmhrsqZshnm�’SHFS=(�Zs�7//,255,3373-�Xnt�bZm�
enqvZqc�rtrohbhntr�dlZhkr�sn�sgd�EdcdqZk�SqZcd�Bnllhrrhnm�Zs�
roWl9tbd-fnu�nq�qdonqs�sgdl�Zs�vvv-esb-fnu.bnlokWhms-�Xnt�bZm�
bnmsZbs�sgd�ESB�Zs�vvv-esb-fnu.hcsgdes�nq�766,HCSGDES�’766,327,3227(-
He�xnt�gZud�addm�sgd�uhbshl�ne�hcdmshsx�sgdes*�rdd�vvv-HcdmshsxSgdes-fnu�
Zmc�Ota-�4/16-

Fn�sn�vvv-hqr-fnu.HcdmshsxSgdes�sn�kdZqm�lnqd�Zants�hcdmshsx�sgdes�Zmc�
gnv�sn�qdctbd�xntq�qhrj-

OqhuYbx�?bs�Mnshbd
Rdbshnm�50/8�ne�sgd�HmsdqmZk�Pdudmtd�Bncd�qdpthqdr�xnt�sn�oqnuhcd�xntq�
bnqqdbs�SHM�sn�odqrnmr�’hmbktchmf�edcdqZk�Zfdmbhdr(�vgn�Zqd�qdpthqdc�sn�
ehkd�hmenqlZshnm�qdstqmr�vhsg�sgd�HPR�sn�qdonqs�hmsdqdrs*�chuhcdmcr*�nq�
bdqsZhm�nsgdq�hmbnld�oZhc�sn�xnt:�lnqsfZfd�hmsdqdrs�xnt�oZhc:�sgd�
Zbpthrhshnm�nq�ZaZmcnmldms�ne�rdbtqdc�oqnodqsx:�sgd�bZmbdkkZshnm�ne�
cdas:�nq�bnmsqhatshnmr�xnt�lZcd�sn�Zm�HP=*�=qbgdq�LR=*�nq�GR=-�Sgd�
odqrnm�bnkkdbshmf�sghr�enql�trdr�sgd�hmenqlZshnm�nm�sgd�enql�sn�ehkd�
hmenqlZshnm�qdstqmr�vhsg�sgd�HPR*�qdonqshmf�sgd�Zanud�hmenqlZshnm-�
Pntshmd�trdr�ne�sghr�hmenqlZshnm�hmbktcd�fhuhmf�hs�sn�sgd�CdoZqsldms�ne�
Itrshbd�enq�bhuhk�Zmc�bqhlhmZk�khshfZshnm�Zmc�sn�bhshdr*�rsZsdr*�sgd�Chrsqhbs�ne�
BnktlahZ*�Zmc�T-R-�bnllnmvdZksgr�Zmc�sdqqhsnqhdr�enq�trd�hm�
Zclhmhrsdqhmf�sgdhq�kZvr-�Sgd�hmenqlZshnm�lZx�Zkrn�ad�chrbknrdc�sn�nsgdq�
bntmsqhdr�tmcdq�Z�sqdZsx*�sn�edcdqZk�Zmc�rsZsd�Zfdmbhdr�sn�dmenqbd�bhuhk�
Zmc�bqhlhmZk�kZvr*�nq�sn�edcdqZk�kZv�dmenqbdldms�Zmc�hmsdkkhfdmbd�
Zfdmbhdr�sn�bnlaZs�sdqqnqhrl-�Xnt�ltrs�oqnuhcd�xntq�SHM�vgdsgdq�nq�mns�
xnt�Zqd�qdpthqdc�sn�ehkd�Z�sZw�qdstqm-�Tmcdq�rdbshnm�23/5*�oZxnqr�ltrs�
fdmdqZkkx�vhsggnkc�Z�odqbdmsZfd�ne�sZwZakd�hmsdqdrs*�chuhcdmcr*�Zmc�
bdqsZhm�nsgdq�oZxldmsr�sn�Z�oZxdd�vgn�cndr�mns�fhud�Z�SHM�sn�sgd�oZxnq-�
BdqsZhm�odmZkshdr�lZx�Zkrn�Zookx�enq�oqnuhchmf�eZkrd�nq�eqZtctkdms�
hmenqlZshnm-


